Infill reconstruction using offline

Optimal distance and (3 parameter from the LDF

x10°

-
(=1
o

------ 450m line
— all

—— no saturated

Number of events
(0]
o

N
(3))
TTTT]TTTTTTIT T T T T T T TTRTJTITTTITTTITITITITT]TITTT
LR RN R L L L LR L

a1
o
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|III

A - '-.. . .
e . . (N .
-, s ~ fe 4 e '. .
e e . .
JPICL LN . .
¢ L H
H
. . H
. . L e : L . "
. .. . [ ]
Lot - ’ " g lean -0.02 £ 0.01 H
. . £ 500 o1 :
S 00f-
¢ :
g E "
22000— :
-4 1500 :
1000~ 20 E
500 :
4'5 o 5 0 05 1 0 E
3B Bressurea-Boarar) H
_5 1 I 1 1 1 I 1 | 1 I 1 1 1 | 1 1 1 I 1 1 | | 1 :
.
1 1 -2 1 -4 1 -6 1 -8 2 Q | | | | : | 1 1 1 1 [l Ll | | | I I | I

sec(6) 300 400 500 600 700 800 900 1000
Ropt [M]

(=)
o

B(sec(8)) =A+ B * sec(6) Ropt = 450 m

A=-297 +/-0.01
B= 0.85+/-0.01

lvan Sidelnik — ITeDA Buenos Aires



S(450) [VEM]

Infill reconstruction using offline

CIC attenuation curve and calibration with FD hybrids from Cohiueco
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X = cos(0)?-cos(38°)°

CIC for Infill @ 6 = 38°
CIC(8)=1+ax + b x
X = cos? 8 — cos” 38°

S, (450,38°)= 43.9 VEM

a=1.69 +/- 0.05 (stat)
b =-0.80 +/- 0.20 (stat)
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S(38°,450/VEM)

E=A x S(38°,450)°
A=1.03 +/-0.09 x 10" [eV]
B = 1.07 +/- 0.02

Fractional energy
Mean = -0.02 RMS =0.20
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Infill reconstruction using offline

Angular resolution
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AR = 1.5 (%2 (d0°+d¢” sin6* ) )"

° E <2x10" eV
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More info: GAP 2011-013
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